O 2HNA x +y + 2 & 3= 5ot

e
N
N
_—
= °

1
x© Zo: 5)(180:900 ’yo: 180° — 60° — 90° = 30°
~ x+y+z=90°+30°+90°=210°




The 728 B 5.0ptAB ©] Zdol= A
ol ?
B
Q
O
D
10em———~C

D 1lcm @ 2cm ® 3cm @ 4cm @BCm

Py

90°:45° =10 : 5.0ptAB
/N

. 5.0ptAB =5 (cm)




3.

g I3ollA /BCD = ( ) olth ( yoll dgre =&
oozt

(DAB =35°+80°=115°
Sox=180°-115°=65°




4.

e 2389 ¥ O°llA x o] dolE F5tofzt.

BF=BD=2°22 CE=CF=x-2
AE=ADOIBER2 10=7+(x-2) ~x=5




1 AB = 0vB(cm) 2} & T,
ool A 48 Ao Tfede,
(&, AB & 212 9] FAelrh)

vV V. v VY
02
ool
IS

0
iU
~J

AT = V82 -62 = 2V7(cm)
. AB =4+7cm




6.

H?

ohe 2ol ox 9 3718 T3}

@10 @50 @5 @5 G 6
0] FAT 2 HHE AE Fol o2k o] 27)% 1 7t
F2te) 27)% gonz

Yo e Tof tigt A
/x = 49°




